
Mechanisms Club - January 18, 2006

A Mish-Mash!
Please provide detailed arrow-pushing mechanisms for the following problems, in three dimensions where appropriate.

OH

CO2H

NHCbz

1) PhI(OAc)2
    CF3CH2OH

2) NaHCO3
    MeOH N

OH

H

CO2Me
O

Cbz

1) Hg(OAc)2
    AcOH, 70-75 oC

PhH, reflux
MeO2C CO2Me2)

CO2Me

CO2Me
OAc

AcO+

Me
O

Me Me

O

O

Me

H

H

H
O

O
Me

Me
O

hv
acetone
H2, Pd/C
MeOH, rt

1)

2)

O OMe

OTBSPMBO

"Cp2Zr"

BF3  OEt2
PhCH3

A 1) Dess-Martin

BrMg SiMe32)
B

K2CO3
MeOH
C6H6,∆2)

1)
O

OTBS

OPMB

 


